Central Lubrication
Hose and Fittings

B.L. Shipway

ESTABLIS

Hluicennecto:
manuli’ -



rec
Stamp


Index

1) Hose and Tube

2) Hose Fittings

3) Cutting Ring Fittings
4) Push-In Fittings

5) Adaptors

6) Manifolds

Tuicennecto:
manuli’ -




Section 1
HIGH-PRESSURE HOSE 840 BAR

100-001 8.6 4.0 MLGI class 2 50 m 250 3000
100-002 80 4.0 empty A0 m 250 3000
100-011 113 6,3 MLGI class 2 100 m 200 2000
100-012 1.3 G,3 empty 100 m 200 2000
4010-100 Ri1g" 18" empty 50 m 250 3000
Imner Tube Casing Innter tube Casing
Material Termopl. Termopl. Termopl. Termopl.
Polyamid 6 Polyurethan Polyvamid & Polyurethan
Tear strength DIMN EM IS0 = ZJ0N/mm2 = 18N/mm2 = J0N/mm2 = 18N/mm2
h2T
Elongation at break DIM EM IS0 = B0% = 380% = 180% = 380%
h2T
Hardness shore DIM EM IS0 =060 +-3 = A B8 +-3 =D E0+-3 =ABE+H-3
864
Permissable hending 20°C =20 mm 20°C =45 mm
radius

Operating temperatur  -40°C his 80°C
far mediums to be pumped with "grease with corrosion protection additives”: max. 70°C

Cracking pressure DIM EN 150 1402 pressurisation: 60s
20°C =840bar (84 MPa, 12154 psi), 60°C =460 bar,

connecto:
manuli




Section 1

NYLON TUBES SEMI-RIGID-FLEXIBLE PA12

Operative pressure for & 4 x 0,85 and 23°C: approx. 1044 P8I/ 7 MPA | 72 bar
Operative pressure for & 6 x 1,25 and 23°C: approx. 1015 P51/ 7 MPA | T0 bar
Operative pressure for & 6 x 1,5 and 23°C: approx. 1291 PS5l /9 MPA ! 89 bar

100-010 black PA12HL 4x085 unfilled 4 23 085 50 2000 5000
4511-100 black PA12HL 4x0285 MLGI class 000 4 23 085 50 2000 5000
100-009-25  black PA12ZHL 6x15 MLGI class 2 3] 30 15 25 750 4000
100-004 black PA12HL 6x15 MLGI class 000 & 30 15 100 500 4000
100-003-25  black PA12ZHL 6x15 unfilled 3] 30 15 25 750 4000
100-003 black PA12HL 6x15 unfilled ] 30 15 100 500 4000
4510-001 transparent PA12HL 62125 unfilled 3] 35 125 100 500 4000

Mounting advise:
Please do always use reinforcing sockets for plastic tubes with diameter 4x 0,85 and 6x1,25

connecto:
manuli




Section 2
SCREW SLEEVES FOR HOSE STUDS

Screw sleeve for hose studs for assembling high pressure hose & 4,1 x 8,75

Item Mo. Material L SW Bag Box
100-050 steel, surface chrome-V| free, galvanised

28 12 100 500
100-050-5W steel surface chrome-V free, black Fn galvanised

28 12 100 500

100-050-VA stainless steel 1.4401 7 316 / V4A

28 12 25 500

Tuicennecto:
manuli




Section 2

HOSE STUD STRAIGHTS
i
r SN L1 1

Steel, surface chrome-Vl free, galvanised

100-054-4 41x875 4 51 20 10 50 500
100-054 41x875 ] 31 20 10 100 500
100-055 41x875 ] 55 24 10 100 500
100-051 41x875 ] 61 30 10 100 500
100-091 41x875 ] 98,5 65,5 10 100 500
100-051-8 41x875 3 61 30 10 50 500
3510-110 41x875 1i4" 61 30 11 100 500
3510-113 41x875 aM1e” 31 20 10 100 500
100-054 6.35x113 ] 65,5 22 12 50 500
100-074 6.35x113 3 65,5 22 12 50 500
100-081 6.35x113 10 73,5 30 12 50 500

connecto:
manuli




Section 2

HOSE STUD STRAIGHTS

™
C SR UNURRNNON L e e—— e
xxxxx A o I ]
L], L1 i
L

Steel, surface chrome-VI free, galvanised

100-054-NUT 41x875 6 51 20 10 100 500
100-051-NUT 41x875 f 61 30 10 100 500
3510111 41x875 14" 61 30 11 100 500
100-064-NUT 635x113 G 65,5 22 12 B0 500
3510-112 1/8" = 516" 14" 2,09 1,18" 7Ha" 100 500
W
Y
-1 - - L]
o ‘x S
- L -
Steel, surface chrome-VI free, galvanised
3510-114 412875 JIC3T THE 275 14 14 50 500

connecto:
manuli




Section 2

HOSE STUD 90°

Steel, surface chrome-VI free galvanised

100-059-4 41x875 4 14 30 10 50 500
100-052 41x875 G 13 21 10 100 500
100-059 41x875 6 14 33 10 100 500
100-082 41x875 G 17 28 10 100 500
100-053 41x875 6 28 7 10 100 500
100-056 41x875 G 28 a3 10 100 500
3511-110 41x875 14" 28 7 11 100 500
3511-113 41x875 M1g" 14 32 10 100 500
100-083 635x13 6 22 45 12 50 500
100-073 6,35x11.3 8 23 26 12 50 500
100-078 635x13 2 23 55 12 50

100-033 6,35x11.3 10 23 26 12 50 500

connecto:
manuli




HOSE STUD 90°

Section 2

Steel, surface chrome-VI free, galvanised

100-053-NUT

100-056-NUT

351111

3511-112

41x875 ]
41x875 G
41x875 114"

118" x 516" 114"

25
23
23

27 mm/ 1,06"

&teel, surface chrome-VI free, galvanised

3511-114

41%87541x875

JIC3TTHE

T
53
T

35mm/ 1,38"

207 257

i

10

10

1

11 mm / 716"

14 14

100

100

100

100

50

1000

500

500

500

500

¢ nnecto:
manuli




Section 2

HOSE STUD 45°

Steel, surface chrome-VI free, galvanised

100-057 41%875 3] 24 15 10 100 500
100-058 41x875 ] 35 25 10 100 500
3512-110 41%878 14" 35 25 11 100 1000
100-068 635x113 ] 35 25 12 50 500
100-075 6.35x13 3 35 25 12 50 500

Steel, surface chrome-Vl free, galvanised

100-057-NUT 41x875 G 24 15 10 100 500
100-058-NUT 41x875 6 35 25 10 100 500
3512-1M1 41x875 14" 35 25 1 100 1000

connecto:
manuli




Section 3

STRAIGHT SCREW COUPLING

Steel chrome-VI free, galvanised

104-001

104-002

104-002-8x1,25

104-003

104-004

106-001

106-002

106-002-8x1,25

106-003
106-003-L
106-003-L-Z¥L
106-006-L
106-007-L
106-004
106-004-L
106-004-L-ZYL
106-004-MPT
106-005-L-NPT

106-008-L

GED4-LL M1
GEO4-LL M3x1
GED4-LL M&x1,25
GEO4-LL M10x1
GED4-LL 1/8BSPT
GEOG-LL M6x1
GEDG-LL MEx1
GEOG-LL M2x1,25
GEOG-LL M1
GEOG-L M10x1
GEODG-L M10:1
GEO6-L M12x1,5
GEDG-L M14:1,5
GEOGE-LL 1/2BSPT
GEDG-L 1/3BSPT
GEOG-L 1/3BSPT
GEODG-LL 1/8NPT
GEODG-L 1/4NPT

GEODG-L 3/3B5F

MGx1tap
MZE&=x1tap

M &= 1,25 tap
M 10 1 tap
R 1/8 BSF tap
MG 1tap
MEx1tap
M3 1,25 tap
M 10 %1 tap
M 10 1 tap
M A0 %1 cyl
MA12x1,5cyl
MA14x15 cyl
R 1/2 BSP tap
R 1/8 BSF tap
R 1/2 BSP cyl
1/8 NPT

114 NPT

R 3/8 BSP zyl

1

1

1

1

1

1

14

14

17

19

1

14

14

1

17

14

10
10
10
10
10
12
12
12
12
14
14
14
14
12
14
14
12
14

14

LL
LL
LL
LL
LL
LL
LL
LL

LL

50
50
50
50
50
100
100
100
100
50
50
50
50
100
50
50
100
50

100

connecto:
manuli

500
500
500
500
500
500
500
500
500
500
500
500
500
500
500
500
500
500

500




Section 3
STRAIGHT SCREW COUPLING

106-005 GEODG-LL 1/4BSPT G R 1/4 BSF keg 1 12 LL 100 500
106-005-L GEOS-L 1/4BSPT ] R 1/4 BSP tap 14 14 L 50 500
106-005-5 GEDG-3 1/4BSP G R 1/4 ESP cyl 17 19 S 50

1012-005 GEOG-LL 1/4-28UNF & 114 - 28 UNF 1 12 LL 100 500
108-001 GEODS-LL M= 8 MGx1tap 14 14 LL 50 500
102-002 GEODZ-LL MEx1 2 M2Zx1tap 14 14 LL 50 500
108-003 GEOD2-LL M10x1 8 M 101 tap 14 14 LL 50 500
108-003-L GEDS-L M14x1,5 2 M14x 15 cyl 19 14 L 50 250
108-004 GEODS-LL 1/8 BSPT 8 R 1/ BSF tap 14 14 LL 50 500
108-004-L GEOZ-L 1/3BSPT 2 R 1/2 BSP tap 19 14 L 50 250
108-005 GED3-LL 1/4BSPT 8 R 1/4 BSF tap 19 14 LL 50 250
108-005-L GEDZ-L 1/4BSPT 2 R 1/4 BSP tap 19 17 L 50 250
110-003-L GE10-L M 10:x1 10 M0 1 cyl 17 19 L 50 500
110-004-L GE10-L 1/3BSP 10 R 1/2 BSP oyl 17 19 L 50 500
110-005-L GE10-L 14BSP 10 R 1/4 ESP cyl 19 19 L 50 250
110-008-L GE10-L M14x1,5 10 M14x 15 cyl 19 19 L 50 500

connecto:
manuli




Section 3
ELBOW SCREW COUPLING

Steel, chrome-VI free, galvanised

104-101 WED4-LL Max1 4 Gx1tap ] 10 LL 50 500
104-102 WED4-LL Max1 4 8x1tap a 10 LL 50 500
104-102-8x1,25 WED4-LL M&x1.25 4 8x1.251tap ] 10 LL 50 500
104-102 WEO4-LL M10x1 4 10x 1tap 1 10 LL 50 500
104-104 WEOD4-LL R1/8 4 R 1/3 BSP / tap 1 10 LL 50 500
106-101 WEDB-LL Max1 ] 6x1tap 1 12 LL 100 500
106-102 WEDG-LL Max1 ] &% 1tap 1 12 LL 100 500
106-102-8x1,25 WEDB-LL M23x1,25 ] 2x125tap 1 12 LL 100 500
106-103 WEOG-LL M10x1 ] 10x 1tap 1 12 LL 100 500
106-103-L WEDG-L M10x1 ] 10x 1tap 12 14 L 50 500
106-104 WEODG-LL R1/8 ] R 1/3 BSP / tap 1 12 LL 100 500
106-104-MNPT WEDG-LL 1/2NPT ] 178 NPT 1 12 LL 100 500
106-104-L WEDG-L R1/8 ] R 1/3 BSP / tap 12 14 L 50 500
106-105-L WEDG-L R1/4 ] R 1/4 BSP / tap 12 14 L 50 500

Tuicennecto:
manuli




Section 3
ELBOW SCREW COUPLING

Steel, chrome-VI free, galvanised

1010-005 WEDS-LL1/4-28UNF & 14 - 23 UNF 11 12 LL 100 500
102-103 WEOS-LL M10x1 2 101/ tap 12 14 LL 50 500
108-104 WEDS-LL R1/8 8 R 13/ tap 12 14 LL 50 500
108-104-L WED2-L R1r8 2 R 1/2 /tap 12 14 L 50 500
108-105-L WEDS-L R1r4 8 R 174 BSF /tap 12 17 L 50 500
110-105-L WE10-L R1r4 10 R 1/4 BSP /tap 14 19 L 50 250

Hluicennecto:
manuli




Section 3
CUTTING RINGS

Steel, surface chrome-V| free, galvanised

104-210 4 6 LL 100 1000
106-210 ] i L 100 2000
106-210-L ] 0,45 LiS 100 2000
108-210 3 7,35 L 100 1000
108-210-L 2 0,43 LiS 100 1000
110-210 10 7,02 L 100 1000
110-210-L 10 8.5 LiS 100 1000

connecto:
manuli




Section 4

PUSH-IN STRAIGHT CONNECTORS

Plated brass, metric screw thread

104-051

104-052

104-053

106-051

106-052

106-053

MG x1tap
ME&x1tap
M 10 % 1 tap
MEx 1tap
M8 x1tap

M 10 % 1 tap

Plated brass, inch screw thread

104-054

104-054-MPT

104-055-UNF

106-054

106-054-MNFT

106-055-UNF

2010-101

2010102

R 1/8 BSP tap
178 NPT

1/4 - 28 UNF
R 1/8 BSP tap
1& NPT

1/4 - 28 UNF
1/4 - 28 UNF

178 NPT

14"

1/4"

10

10

11

12

12

12

10

1

1

12

12

12

12

12

50

50

50

50

50

50

50

50

50

50

50

50

50

50

500

500

500

500

500

500

500

500

500

500

500

500

500

500

connecto:
manuli




Section 4

PUSH-IN ELBOW CONNECTORS

Plated brass, metric screw thread

104151

104-152

104-153

106-151

106-152

106-153

ME 2 1tap
ME x 1tap
M0 x 1 tap
MG x 1tap
ME 2 1tap

M10 x 1 tap

Plated brass, inch screw thread

104-154

104-154-NPT

104-155-UNF

106-154

106-124-NPT

106-155-UNF

2011-101

2011-102

R 1/& BSF tap
178 NPT

174 - 28 UNF
R 1/ BSP tap
18 NPT

1/4 - 28 UNF
174 - 28 UNF

178 NPT

1/4"

1/4"

10

10

10

10

10

10

10

10

10

10

10

10

10

10

50

50

50

50

50

50

50

50

50

50

50

50

50

50

500

500

500

500

500

500

500

500

500

500

500

500

500

500

connecto:
manuli




Section 4

PUSH-IN ELBOW CONNECTORS—SWIVEL

Plated brass, metric screw thread

104-111 MG x 1 tap 4 13 50 500
104-112 M& x 1 tap 4 13 50 500
104-113 M10x 1 tap 4 13 50 500
106-111 MG x 1 tap 5] 13 50 500
106-112 M& = 1 tap 5] 13 50 500
106-113 M10x 1 tap 5] 13 50 500

Plated brass, inch screw thread

104-114 R 1/ BSP tap 4 13 50 500
104-114-NPT 113 NPT 4 13 50 500
104-115-UNF 174 - 28 UNF 4 13 50 500
106-114 R 1/2 BSP tap G 13 50 500
106-114-NPT 18 NPT 6 13 50 500
106-115-UNF 1/4 - 28 UNF G 13 50 500
2012101 174 - 28 UNF 14" 13 50 500
2012-102 113 NPT 1/4" 13 50 500

connecto:
manuli




PUSH-IN JOINERS

Plated brass, metric screw thread

104-110 4

106-110 6

Plated brass, inch screw thread

2013100 14"

Section 4

28 50 500
285 50 500
30 50 500

connecto:
manuli




Section 5

ADAPTORS—EXTENSIONS

W

Adapter - extention piece with metric and BSP thread

steel, surface chrome-VI free, galvanised

100-125 MG x1tap MEGx1 57,5 7.5 8 50 500
2510-102 MEx1tap MG 20 7.5 ] 50 500
100-120 MG x1tap Max1 19 7 1 50 500
2510-103 MEx1tap MA0x1 23 10 13 50 500
2510-104 MG x1tap Rp 1/8 BSP 23 10 13 50 500
100-130 MEx1tap MEx1 13 2 1 50 500
100-130-1 M&x 1,25 tap Ma=x125 20 7 1 50 500
100-132 MEx1tap MEx1 32 22 1 50 500
100-132-1 M&x 1,25 tap Ma=x125 32 22 1 50 500
100-135 MZ2x1tap MEx1 62,5 525 11 50 500
100-137 Max1tap MA10x=1 23 12 13 50 500
100-170 MZ2x1tap Rp 1/2 BSP 23 12 13 50 500
100-169 Max1tap Rp 1/4 BSP 22 g 17 50 500
100-140 MA10x1tap MEx1 13 2 11 50 500

connecto:
manuli




Section 5

ADAPTORS—EXTENSIONS

sw
J 3
——— ¥
: \
© 1 5
) e o Ol D '
L 1 g —— e
- L -

Adapter - extention piece with metric and BSP thread

steel, surface chrome-VI free, galvanised

100-142 M0 x1tap MADx1 13 7 13 50 500
100-141 M0 1tap M 101 23 12 13 50 500
2510-21 M10x1 5tap M 101 23 12 13 50 500
100-145 M0 1tap M 101 35 24 13 50 500
100-143 M0 x1tap M 101 40 29 13 50 500
2510-105 M0 1tap M 101 40 8 14 50 500
100-146 M0 x1tap M 101 50 39 13 50 500
100-171 M0 1tap Rp 1/4 BSP 22 8 17 50 500
100-151 R 1/8 BSP tap M 101 13 7 13 50 500
100-152 R 1/ BSP tap Rp 1/8 BSP 13 11 13 50 500
100-155 R 1/8 BSP tap M 2x1 13 7 13 50 500
2510-106 M0 1tap Rp 1/8 BSP 13 7 13 50 500
100-148 R 1/8 BSP tap REp 1/28 BSP 23 12 13 50 500
100-156 R 1/ BSP tap Rp 1/8 BSP 30 13 13 50 500

connecto:
manuli




Section 5

ADAPTORS—EXTENSIONS

sw
J 3
——— ¥
: \
© 1 5
) e o Ol D '
L 1 g —— e
- L -

Adapter - extention piece with metric and BSP thread

steel, surface chrome-VI free, galvanised

100-149 R 1/ BSP tap Rp 1/3 BSP 35 23 13 50 500
100-157 R 1/& BSF tap Rp 1/3 BSP 41 29 13 50 500
100-154 R 1/ BSP tap Rp 1/3 BSP 45 33 13 50 500
100-153 R 1/& BSF tap Rp 1/3 BSP 50 33 13 50 500
100-144 R 1/4 BSP tap M 101 20 g 17 50 500
100-147 R 1/4 BSF tap Rp 1/3 BSP 20 9 17 50 500
100-182 R 1/ BSP tap Rp 1/4 BSP 22 2 17 50 500
100-160 R 1/4 BSF tap Rp 3/3 BSP 27 11 22 50 500
100-161 R 1/4 BSP tap Rp 1/4 BSP 25 g 19 50 500
2510-210 R 1/4 BSF tap Rp 1/4 BSP 50 36 17 50 250
2510-209 R 1/4 BSP tap Rp 1/4 BSP 65 51 17 50 250
100-136 R 1/4 BSF tap Rp 1/4 BSP a5 71 17 50 250
100-187 R 1/4 BSP tap Rp 1/4 BSP 104 a0 17 50 250

connecto:
manuli




ADAPTORS—90°

Steel, surface chrome-Vl free, galvanised

100-711
100-721
100-722
100-722-1
100-723
100-724
5011-105
100-732
100-733

5011-106

100-733-10:1,5
100-744
100-755
s011-101
5011-102
5011-103

5011-104

ME=1tap
MG x1tap
ME&x1tap
M8 x 1,25 tap
M A0 = 1tap
R 1/8 BSP tap
ME=1tap
MBx1tap
M A0 = 1tap

M10x1tap

M10x15tap
R 1/& BSP tap
R 1/4 BSP tap
113 NPT

118 NPT

MG x 1tap

1/4-28 UMF

Section 5

M Gx1

M 8x1

M 8x1

M 8x1.25
M 8x1

M 8x1

M 10x1
M 101
M 10x1

M 101

M 101

Rp 1/8 - BSP
RF 1/4 BSP
118 NPT

18 NPT

118 NPT

18 BSP

23

23

23

23

23

23

23

23

23

29

23
23

23

33

23

23

12

12

12

12

12

12

13

13

13

13

13
13

17

9/16"

8/1g"

9/16"

13

50

50

50

50

50

50

50

50

50

50

50
50

50

50

50

50

50

500

500

500

500

500

500

500

500

500

500

500
500

500

500

500

500

500

connecto:
manuli




Section 5

ADAPTORS—45°

Attention:
Please check after assembly the fitting (male thread) into the angle adapter 90° (female thread), that the passage /
flow is not closed.

Steel, surface chrome-VI free, galvanised

100-221 MG x1tap M &1 23 13 50 500
100-822 MEx1tap M 8x1 23 13 50 500
100-823 M0 = 1tap M &1 23 13 50 500
100-833 M10x1tap M 10x1 23 13 50 500
5010-102 MG x1tap Rp 1/8 BSP 23 13 50 500
100-844 R 1/ BSP tap Rp 1/2 BSP 23 13 50 500
100-255 R 1/4 BSP tap RF 1/4 B3P 33 17 50 500
5010-101 1/8 NPT tap 178 NPT 23 9/16 50 500

connecto:
manuli




Section 6

GREASING BLOCKS - 2PORT

2 mounting holes

L1
L2
ilVaxgZzasil
’ AT - o
W22z
DIG G
L
Steel, surface chrome-VI free, galvanised
100-210-1 1 M 101 38 28 10 20 20 6,5 5 100
5029-111 1 1/8 BSP 38 28 10 20 20 6,5 5 100
100-210-2 2 M 101 50 40 20 8 20 20 6,5 5 50
5029-112 2 1/8 BSP 50 40 20 8 20 20 6,5 5 50
5029-103 3 M 101 70 60 20 8 20 20 6,5 5 50
5029-113 3 1/8BSP 70 60 20 8 20 20 6,5 5 50
B029-114 4 18 BSP 90 80 20 8 20 20 6,5 5 25
5029-115 5 1/8BSP 110 100 20 8 20 20 6,5 5 30
5029-116 & 18 BSP 130 120 20 8 20 20 6,5 5 20

connecto:
manuli




Section 6

GREASING BLOCKS - TPORT (SUPPLIED WITH PLUGS)

2 mounting holes

L1
2|
o H—
ez sl JLWM_Q | 2
‘mi (] ‘ | g
1 L ]

Steel, surface chrome-Vl free

h029-001 1 M 101 38 28 125 25 25 8,5 5 100
5029-002 1 18 BSPF 38 28 125 25 25 6,5 5 50
100-212 2 M 101 ] 50 22 125 25 25 8,5 5 50
5029-012 2 118 BSP 60 50 22 125 25 25 6,5 5 50
100-213 3 M 101 84 74 22 125 25 25 8,5 5 25
5029-013 3 118 BSPF 84 74 22 125 25 25 6,5 5 25
100-214 4 M 101 106 o5 22 125 25 25 8,5 5 25
5029-014 4 118 BSP 106 06 22 125 25 25 6,5 5 25
100-215 5 M 101 128 118 22 125 25 25 8,5 5 25
50259-015 5 18 BSPF 123 118 22 125 25 25 6.5 5 20
100-216 & M 101 150 140 22 125 25 25 6,5 5 20
5029-016 6 1B BSF 150 140 22 125 25 25 6.5 5 20
100-218 8 M 101 184 184 22 125 25 25 6,5 5 20
50259-018 & 1B BSF 194 184 22 125 25 25 6.5 5 20
Please note!

1 closure plug per connection is included in delivery

connecto:
manuli






